
Excel Column Labels

Number From Label

LetN(ck|ck−1|...|c1|c0) be the natural number corresponding to a column label in
excel. If the label has only one letter, then

N(A) = 1, N(B) = 2, N(C) = 3, ... N(Z) = 26.

Since the ascii code ofA is 65, this may be writtenN(c0) = ascii(c0)− 64.
If the label has more than one letter,

N(ck|ck−1|...|c1|c0) = 26kN(ck) + 26k−1N(ck−1) + · · ·+ 26N(c1) +N(c0).

This is the formula for converting frombase 26, but has differentmeaning, since
inbase 26 there is a symbol for zero, and there is no symbol for 26 itself. The formula
may be written recursively as.

N(ck|ck−1|...|c1|c0) =

{
26N(ck|ck−1|...|c1) +N(c0), k > 0

ascii(c0)− 64, k = 0
.

Label From Number

LetL(n) be the label of column n. Divide n by 26 to obtain a quotient q and remain‐
der r.

n = 26q + r

Then, inverting the recursive formula above, yields the recursive formula

L(n) =


L(q)|L(r), n > 26, r ∈ {1, 2, ..., 25}
L(q − 1)|Z, n > 26, r = 0

the nth letter of the alphabet, n ∈ {1, 2, ..., 26}
.
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